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1. The Gemara says that if we maintain 7%y o>1wxn 0°m12° 17w she should need 7%°%m in addition to a va.
Rashi adds that maybe he should not be allowed to marry her again after he divorced her. How is that
connected to needing a 7¥°5n? How do we understand o> nwxa o2 17y after the &3 answered xvnei 7w,
does this mean that we don’t have the same o°1wx1 0°m12° status when there is no brother that is born after
the 77°01?

2. The mwn discusses mwiTp MoK Men Mo°R, which the Gemara explains refers to 71175 and awy IR *2n.
Since the determining factor is if it’s just a W7 or a 7wy W, why did the mawn choose myn and 7w7p rather

than spelling out clearly &% >2»n and nwy Ww5?

3. When the mwn says "1 xaw 93 is it referring to the mny or the 77%? Is the 77% of an s M¥n Mok from
Yibum?

4. Why are the Rabbis called *0>7o10?

5. Rashi on the Mishna explains that a 172 whose brother transgressed and married a divorcee, can’t do 012°
since he is not allowed to marry a divorcee. How come > picks an example which involves an mo°x? The
Gemara earlier (daf v) said that the maw» avoids examples which involve an Mox.

6. When discussing 118> >2»n versus nin»12 *2>i1 and which one it makes more sense to exclude from o2

the Gemara used 1w17°p noon as a test. Why not simply use the fact that nin>13 °2»n are more stringent!

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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